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B L K4 FEHIFI—X ouT IN GROSS
1 INE EFRF WFA T B 37 42 79
2T WA mF FEDH 38 42 80
2T IO TV 38 42 80
2T FtkE MEF 2o ELE 40 40 80
5T JEH #BET WFHMHAE 40 41 81
5T =48 _FH 2o ELE 42 39 81
5T S FEEARY- 38 43 81
8T 1EH EF WFHMHAE 39 43 82
8T mAR xR WFEHEE 40 42 82
8T [ WFE T B 41 41 82
11T FEiE 1EF FEE ARV 43 40 83
11T T+H BK WFA T B 40 43 83
1T Fik =i TV 41 42 83
11T 88 BF WFHMHAE 41 42 83
15T ¥H BF TV 38 46 84
15T BEHx == 2o EBLE 44 40 84
15T EH EXEF WFA T B 40 44 84
15T & Hlrx FEEAY- 42 42 84
15T alE RE WFHMHAE 41 43 84
15T TH EBF FEEAY- 43 41 84
15T HT HF FEDH 41 43 84
15T Rt BEXE WFA T B 41 43 84
15T i L TV 42 42 84
15T 2R EE WEH M E 44 40 84
25T )l =F FEEAY- 43 42 85
25T E NEF N 44 41 85
25T HE #=E hEg A ARy - 40 45 85
25T Flll BEF hEg A ARy - 43 42 85
25T 1IE A hEE AR - 44 41 85
25T JIME EE N 43 42 85
25T it fiF A= 41 44 85
32 /R #ME WFZFMHAE 41 45 86
33T LTI ES P =N 40 47 87
33T AR BHE A= 43 44 87
33T A EHE WFZFMHAE 43 44 87
36T ZFT HF P =N 41 47 88
36T e EMF N 46 42 88
36T E BE P =N 47 41 88
36T ERXK BE 2 ELE 42 46 88
36T Kix z2Y FEDFF 44 44 88
4T AHE B WFE T E#E 44 45 89
T %5 =% WFE HEE 47 42 89
41T il BEF Ty 44 45 89
44T 55 Bx FEDFF 43 47 90
44T Bt BEXF N 46 44 90
44T XE HE WFEEEE 44 46 90
44T ABR BF VN 43 47 90
44T 2l MY VN 41 49 90
49T =l HRPE VN 43 49 92
49T i EX N 44 48 92
49T b E BF WFE & EE 46 46 92
52T Bl HEF WFE G EHE 47 48 95
52T JIIR T INEZ 48 47 95
54 a5l —% INA 49 47 96
55 hE H=x WFEHEE 50 47 97
56 WA #EY WFE & EE 47 53 100
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